run_13038086 FGT_ADC 1,Timebin=2,Disc=1,asmb=1DA
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run_13038086 FGT_ MPV_1,Timebin=2,Disc=1,asmb=1DA
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run_13038086 FGT_RMS 1,Timebin=2,Disc=1,asmb=1DA
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run_13038086 FGT_ADC 1,Timebin=2,Disc=1,asmb=1DA
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run_13038086 FGT_ MPV_1,Timebin=2,Disc=1,asmb=1DA
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run_13038086 FGT_RMS 1,Timebin=2,Disc=1,asmb=1DA
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[CADC RMS for RDO=1,ARM=0,APV=5__}

60

50

RMS (ADC-ped)

40

30

20

10

SJ-0313XEEEECCO0OO3IIREEECECO0OOY

. . ; ;
20 40 60 80 100 120
APV channel

[ ADC RMS for RDO=1,ARM=0,APV=6 }
140 [

120

RMS (ADC-ped)

100

80 |+
—

60 |2

40

20 |-

APV channel

[ ADC RMS for RDO=1,ARM=0,APV=7 }

35 |

30

RMS (ADC-ped)

25 |5
20
15

10

T N N N i
o 120
APV channel

[CADC RMS for RDO=1,ARM=0,APV=8__}

RMS (ADC-ped)

APV channel

[ ADC RMS for RDO=1,ARM=0,APV=9 "}

RMS (ADC-ped)

i
120
APV channel




run_13038086 FGT_ ADC_1,Timebin=2,Disc=1,asmb=1AB

Tue Feb 7 07:17:06 2012
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run_13038086 FGT_ MPV_1,Timebin=2,Disc=1,asmb=1AB
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run_13038086 FGT_RMS 1,Timebin=2,Disc=1,asmb=1AB
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run_13038086 FGT_ ADC_1,Timebin=2,Disc=1,asmb=1AB

Tue Feb 7 07:17:23 2012
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run_13038086 FGT_ MPV_1,Timebin=2,Disc=1,asmb=1AB
Tue Feb 7 07:25:58 2012
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run_13038086 FGT_RMS 1,Timebin=2,Disc=1,asmb=1AB
Tue Feb 7 07:26:33 2012
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run_13038086 FGT_ADC 1,Timebin=2,Disc=2,asmb=2DA
Tue Feb 7 07:17:40 2012
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run_13038086 FGT_MPV_1,Timebin=2,Disc=2,asmb=2DA
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run_13038086 FGT_RMS 1,Timebin=2,Disc=2,asmb=2DA
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run_13038086 FGT_ADC 1,Timebin=2,Disc=2,asmb=2DA
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run_13038086 FGT_RMS 1,Timebin=2,Disc=2,asmb=2DA
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Tue Feb 7 07:26:37 2012

[ADC RMS for RDO=1,ARM=LAPV=17 _}

RMS (ADC-ped)

70

60

50

40

30

20

10

- CEEEEERNIII000CCEEERNIIIJ00CCEERER]

APV channel

[ADC RMS for

RDO=1,ARM=1,APV=18 }

RMS (ADC-ped)

30

25

20

15

10

O_Tm!””]””]:””!'%l'

[CADC RMS for

RDO=1,ARM=1,APV=19 |

RMS (ADC-ped)

80

0 =

60

50 |
40

30

20

10

0

APV channel

[CADC RMS for

RDO=1,ARM=1,APV=20 }

RMS (ADC-ped)

45

40

35

30

25

20

15

10

© TR :;;l]lrn[mrpm|rnr|1

i
120
APV channel

[[ADC RMS for

RDO=1,ARM=1,APV=21 }

RMS (ADC-ped)

70

60

50

40

30

20

10

T[I'I'I'I'|1111| M HIHI‘I‘|

B o000000000000000000hE000500000050355005004E0050355005003000503534h5003000500530050030004hAE30050030055005300504R6A0500520050050005005 focsoosa
— B

= i . . . i . . . i . . . i . . . i . . . i

0 20 20 60 80 100 120

APV channel
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Tue Feb 7 07:26:05 2012

[ADC MPV for RDO=1ARM=2,APV=5__}

MPV (ADC-ped)

-500

L i i i
Q 20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=2,APV=6 }

MPV (ADC-ped)

[
1500 |+

1000 [+

-500

i
120
APV channel

[ ADC MPV for RDO=1,ARM=2,APV=7 }

MPV (ADC-ped)

1500 [+
1000 [+

500 |-

-500

i i i i
20 40 60 80 100 120
APV channel

MPV (ADC-ped)

1500
1000 f+

500 |-

-500

i
Q 20, 40 60, 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=2,APV=9 "}

MPV (ADC-ped)

1500 [
1000 [+

500 [+

-500

1 " " " 1 " " " 1 " " " 1 " " " Il " " " Il
20 a0 0 a0 100 120
APV channel
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run_13038086 FGT_ MPV_1,Timebin=2,Disc=3,asmb=3AB
Tue Feb 7 07:26:06 2012
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run_13038086 FGT_RMS 1,Timebin=2,Disc=3,asmb=3AB
Tue Feb 7 07:26:41 2012
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run_13038086 FGT_ADC 1,Timebin=2,Disc=4,asmb=4DA
Tue Feb 7 07:19:51 2012
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run_13038086 FGT_RMS 1,Timebin=2,Disc=4,asmb=4DA
Tue Feb 7 07:26:42 2012
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run_13038086 FGT_ADC 1,Timebin=2,Disc=4,asmb=4DA
Tue Feb 7 07:19:53 2012
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run_13038086 FGT_MPV_1,Timebin=2,Disc=4,asmb=4DA
Tue Feb 7 07:26:07 2012
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run_13038086 FGT_RMS 1,Timebin=2,Disc=4,asmb=4DA
Tue Feb 7 07:26:42 2012
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run_13038086 FGT_ ADC_1,Timebin=2,Disc=4,asmb=4AB

Tue Feb 7 07:20:07 2012
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run_13038086 FGT_ MPV_1,Timebin=2,Disc=4,asmb=4AB
Tue Feb 7 07:26:09 2012
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run_13038086 FGT_RMS 1, Timebin=2,Disc=4,asmb=4AB
Tue Feb 7 07:26:43 2012
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run_13038086 FGT_ ADC_1,Timebin=2,Disc=4,asmb=4AB
Tue Feb 7 07:20:28 2012
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run_13038086 FGT_ MPV_1,Timebin=2,Disc=4,asmb=4AB

Tue Feb 7 07:26:10 2012
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run_13038086 FGT_RMS 1,Timebin=2,Disc=4,asmb=4AB
Tue Feb 7 07:26:45 2012
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run_13038086 FGT_ADC 1,Timebin=2,Disc=5,asmb=5DA
Tue Feb 7 07:20:29 2012
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run_13038086 FGT_MPV_1,Timebin=2,Disc=5,asmb=5DA
Tue Feb 7 07:26:10 2012
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